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® x> +3x+1

® 2x2+2x+1

= x% + 3x
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3.  4a® - 6ab & AFTEIT ALY

@ 4a(a-b) @ 2ab(a-3) ® a(a-b)
@)2a(2a - 3b) ® 4a?(1 - 6b)

4a® — 6ab = 2a(2a — 3b)




DO x*-6x+9 @ 4x* + 16x + 16
1 1
@x2+§x+2—51 @ x*+2xy+y?
2 - 2
® x + 30+ 5oy

D x2-6x+9=(x-3)2
@ 4x* + 16x + 16 = (2x + 4)?
@ x2 +2xy + 1y? = (x + y)?

® 2+ +i2—<x+1)2
3 gg) = &
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© 2x2-5x-12

@ 2-x-12

® 2x+3

@ x-3

® x+3

@ 2x-3

(x—4)(x +3)

@ x2-x-12

(2x+3)(x—4)

© 2x%2-b5x-12




6.

ohe ok Ao x4+ 3y B 2%

2152 744 1), o] thgtAl

4 = 3 el
2x% + 10xy + my?
®© x+y @ 2x+y ® 2x+2y
2x2 + 10xy + my* = (x + 3y)(2x + k)
= 2x% + (k + 6)y + 3ky?
k+6=10k =4
m =3k =12
2x2 + 10xy + my? = (x + 3y)(2x + 4y) O]|B& T}2 gt Qlik
2x + 4y o[t




7.

x+ta=2 x—a=7L M, x3-a®+ax? - a’x =7

® 14 @ 20 ® 24 @28

1

® 32

=(x+a)(x+a)(x-a)
= (x+a)*(x-a)
=22x7=28




8. @®+2ab+b?-a-bE AFTEFSIA?

® (a+b)(a+b+1) @ (a-b)(a+b-1)
® (a=b)(a-b-2) @ a+b)a+b-1)
® (a+b)(a+b-2)

‘ (a+b)?*-(a+b)=(a+b)la+b-1)




9., & EHFx=+1V2-3d 0, x2-2x-15 9] 3&?
D 2+8+2 @2—8«/5 ® -10-4+2
@ 10+4vV2 ® 2-2+2
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5] std? (,

10, Vx=a-29 W, Vx—4a+12- Vx+2a-3 & 7t

2<a<4)
@-2a+5 @ 2a-5 ® 5
@ —2a-3 ® -2a+3

B *
Vix=a-29 FHS AFotH x=d’-4a+4

Va2 —8a+ 16 — Va2 —2a + 1

= /(@a-4)2- /(a-1)?

=la—-4|—la-1]

=-a+4-a+1=-2a+5




